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ECONOMICS
( Major )

Paper : 5.3
( Introduction to Environmental Economics )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : . 1x7=7
wero frafenes fAct srpics s famn
(a) The depletion in the ‘ozone layer’ is
caused by
T T AT FET (AR

(i) carbon dioxide

TR TS
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(2)

(i) nitrous oxide
RIEVEAE

(iti) I:nethane
fieas

(iv) chlorofluorocarbon

FUPR I
(Choose the correct answer)

(= Teor AR Sferean)

(b) Define ‘minimum viable population’.

P TP GRS e i |

(c) The study of interaction between living
organisms and their environment is
known as

(Fill in the blank)

T WF SReRereer  AReRE R
S o &1 W

(11 3% =1 390)
(d) Give the full form of IPCC,

IPCC 3 59 9o farer |
20A/221 ( Continued )



(3)

(e) What does ‘polluter pay principle’
imply?

oo ¢t T & pr 2

(i Why is free rider a problem?
T& WA 9 93 35em 2

(g) Mention one measure for reducing the
emission of greenhouse gases.

cTeaz (o' FoRT ZPR AR 9ot T SeEy
<91 |
2. Answer the following questions : 2x4=8
T fira enpiyRy s fi

(a) What is transaction cost?

T I 2

(b) What does environmental Kuznets curve
imply?

e T AR R o 2

'(c} What do you mean by  ‘non-
excludability’? '

IRl e & 3o 2
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(4)

(d): What is meant by transboundary
pollution?

SRSt arFel e 2

3. Answer any three of the following questions :
5x3=15

wore il e {1 coret fefbm ed i

(a) Write a note on the importance of
studying environmental economics.

e SYAIS SETR 9T e[S 9t Gl
forami

(b) “Incomplete market is a reason for
market failure.” Explain.

“epreyel O, T R <1 PRI I
0

(c) Discuss briefly the impact of population
growth on environment.

MReeE e wory {07 e
ST 4 |
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(5)

(d) Explain how allocation of property right
results in efficient resource use.

Woofeq FOIlfeR IRTRAC [F0q F=ME 7%
IRIR TR I TR T4

(e) Deposit refund system’ rewards good
environmental behavior. Explain.

T AReTy R wE GREN S
oRFS T | M T |

4. Answer the following questions : 10x3=30

woTe i s T

(a) Write the features of common
property resources. Explain with
example, how tragedy of commons
occurs in case of common property
resources. 4+6=10

TR S GEREPRR B TR T
CFae fFMd ARG TR CIFGE X1
T T, SHIZICACE 0o M 41 |
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(b)

(6)

Or/ %<1

What is internalization of externality?
How can negative externality be
internalized? Explain - with suitable
diagram. 2+8=10

IFRFER  wEwAaeIT &7 qqEe
?rfij@—wﬁfmm—r@%mﬁaﬁamﬁm
G 40 |

How does tradable permit result in -
mutually beneficial exchange outcome?
Explain with the help of suitable
diagram. 10

Ry SEfe-@t @ A
Ao R 5l 701 2 B e 3 |

Or/|%<1

. Discuss about thé choice of suitable
~ policy instrument in  developing

20A/221

countries for control of pollution.

g FrEm. A Tmeee ST Seras
MNMoore wfZen o =5t STAw 97 |
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(7))

(c) What are the causes responsible for
climate change? What steps have
internationally been taken to mitigate
this problem? 5+5=10

ey ARG FRPHR 7 G T LS
NI WEATTOR & & omrms! 29 91 (X7

Or/94{1
How are global warming and climate

change related? How do human
activities contribute to global warming

in present time? 4+6=10
eI Twe W weRy  cReed W
oS 7 S TS TE IRRAA (AR
et e S @R ?

% %k ok
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